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SECTION A

Answer all the questions in this section

a) Differentiate between longitudes and latitudes. | : (2mks)
b) Mention the characteristics of the low preésure belt around latitude 0°. (3mks)

- a) The diagram below represents the earth on its axis, use it to answer question (a)
N ; ‘

Orbit
0Rotation of the earth

- i) Name the iatitude marked G. | : ~ (lmk)
ii) What is the angle of inclination of the earth’s axis from it’s orbit. - (1mk)
b) State three effects of the movement of the earth on it’s own axis once .every 24 hours. (3mks)
a) What is clastic load. (2mks)
b) Highlight three cenditions that facilitate formation of deltas. . (3mks)

- The diagram below represents a coastal landform.

a) Name the features marked P, Q and R. (3mks)
b) State two conditions necessary for the formation of a spit. ; : (2mks)
a) State three reasoﬁs why w1nd is the dominant agent of erosion in arid areas. g o0 (3mks)
b) Identify two features forme“c_i,:ilsi,'ja result of wind deposition. (2mks)

Study the map of Migwani (1:50,000) sheet 151/1 and use it to answer question 6.

a) .i) Convert the ratio scale of the map into statement scale (show your calculations) (2mks)

if) Give two methods used in the map extract to represent relief. T (2mks)
ii)Give the adjoining sheets to the North of Migwani sheet. B (1mk)
b) 1) Give the physical features found in grid square 9481. (2mks)
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ii) Give the six figure grid. réference for Itoloni Dam. - (Imk)

iif)Describe the drainage of the area covered by the map. {(4mks)
¢) Calculate the area bordered by all weather road C94 and dry weather road D502 in the Nothem
part of the area covered by the map extract. Give your answer in square kijometres. (2mks)

d) Apart from forest; name two other t

map.

ypes of natural vegetation found in the area covered by the

(Zmks)

) Using a vertical scale of lem rep 20m, draw a cross section along northing 80 from easting 91 to
13597, ‘

1) On your cross section, mark and name:

(5mks)

. All weather road (Bound surface) {I1nik)
A. hill : ' : 1mk)
ii) Calculate the vertical exaggeration of the cross section. 7 1 Tmks)

7. The table below shows some characteristics of igneous rocks.

Category Level of formation ' |Rate of cooling |Size of crystals 5!.;}.z.mp-ies
Intrusive Great depth Slow D Granite
A Shallow depth |Moderate Medium Dolerite
Extrusive B C Small Pumice
a) Fill in the missing characteristics A, B C and D which describe the diiferent types of igneous
rocks.
: {(4mks)
AL
Bt
. C =
Al D 1y
b) Describe three ways through which sedimentary rocks are formexd. {Oiaiks)
¢) Some students are planning to carry out a field study on metamorabiic rip - L e ety scimoh,

i) State three characteristics of met
ii) State three activities that the
iii) State three reasons wh
iv) Why would it be nece

V) State three problems t

ssary to collect sam:

hey are likely to ex

amorphic rocks that they WO oGk, tor uisiitig e study. (3imks)
y would catry out during the study. : Jinks)
y they might require a work scheduie. {3mks)
ples of racks during the study. (3irks)

perience during the study. (3mks)

8 a) Differentiate between Orogenic and epeirogenic movements. (2mks)

b) The diagram below shows a fault. Use it to answ

er the following questions.

B
—Ne—
=i
A
]
D
i) Identify the type of the fault. [ EEERRRE (1mk)
ii) Name the parts iabelled. (3mks)
ALie
Bil
o (s
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¢) Apart from the Rift valley, name two features resulting from faulting.

d) Explain three effects of faulting to physical ghvironmqnt;

'e') With the aid of a labelled diagrafn, describe the fofma;ion of an over thrust fold.

) Dés'éfibe the ‘f'ormation of the Rift valley through tensional forces. Use illustrations.

. 1) Deﬁne the term physical weathering.
i) Explam ithree waysin which physical weathering by temperature changes may occur.‘

g b) Explam three ways in which blOlOglC'\l weathermg QCGUrs.

) bxplam how the following factors affect chemical weathering.

.. Steep slope.
- High elevation

d) The diagram below shows a type of mass qut;qg

—=— Planes

®

) Nmu thc, type of mass wasting illustrated in the diagram.

i) Nan 1:; two other types of landslides.

T l xplain two effects of landshdes on drainage.

10

- J{ &
2) i) Nime two mountains in East r‘xﬁlca ’WI’I ,h are ice capped.
§ &% 7

“ i) dentify three ways in which ice moves.
C\

o

‘. 'h) Desce lbl. the formation ofthe fouowmg glaual features:

} I i'mbmn valley

N n) l’ (hmdal peak

(2mks) -
(6mks)
(5mks)
(J6mk$)

(2miks)
{Bmks)

' i(6mks)

~ (2mks)
. (2mks)

(1mk)
(2mks)

(4mks)

{(2mks)

-(3mks)

(OmKS}

(6mks)

¢) You are required to carry cut a field study on erosional features is glaciated lowland area.

i) Give two reasons why you would requlre a working schedule.

i1) Name three erosxonal features you are ukely to observe during the field study.

......

i)

{2mks)
(3mks)

(3mks)
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SECTION A’
Answer all the questions in this section

. Study th;é?ﬂiﬁgramng&lOw' on formation of petroleum and answer:the:questions that follow.

a)’ What'is represenled by letters A, B-and C. : (3inks)

B.

C-

b)’ Staté'.tﬁi"e"é chnélit.i(ms?neéessary.for* the formation of petroleum. : (3mks)

a)’ State three physmal conditlons that'favours sugarcane growmg m the Lake Vlctorla basin of Kenya.

b) State two' problems experienced by sugarcane farmers iniKenya. 8 :211:3
. a) Narﬂ'&twg dlsmcts in Rlﬁ—valley of Kenya'where beef farming is practised. (2mks)

b) ‘Compgre'ﬁgs‘eef fz/irming;. BetWeen Kenya and?Argex_ltin.a. (4mks)
- a)y G'i’ve'l'\ivp ‘Fr'easoﬁs"r why hardwood tree species in Kenya:are in:danger of extinetion. (2mks)

b) S‘tate»‘IWO":iiiiS"ié'iﬁ: which: softwood forest in' Kenya differ from those: of Canada: | (2mks)
- a) E\léme‘ ;{Woiliortibultural? créps:gr’own_'f in Kenya. 7 X (2mks)

b) State l“‘M")‘ reasons why hotticulture is more developed in the Netherlands than in Kenya. (3mks)

Answer ¢ quc stions 6 (compulsory) and any other two questions from this section.

. The tablp below shows four principles crops produced in Kenya in the years 2000 and 2001 Use it to
answer questxon aandb.

lize L i o )

CROF  |AMOUNT INMETRICTONS | it

O e N . 201
Woett | o e T g 099”
T T r—
Coffee "\ oggoo i
RS
TERM | o 'FORM 4 - GEOGRAPHY 2



b) Calculate the, percentage increase in wheat, .P%Z,?Q:Elc»tf{,‘?ﬁ between the two years.' ) (2mks)
¢) State five physical conditions required for tea growing in Kenya. : lﬁqk\s)
’“d) Explain four problems experienced in smail scale tea growing in Kenya. (Smk\s)
7- 8) ) Whayis forestry. | e . (2mks),
if) Explain three factors that fayour the growth ofinatural forests on the slopes of Mt Kenya.(6mks)
iif). State.{ive factors that haye led to the reduction of area under forest cover on the slopes of Mt
K : : s k).
b) Explain four measuyes that the government of Kenya is taking to conserve forests in the country.
" | ~ (8mks)
¢) Give the differences in the expleitation of softwood forest in Kenya and Cana@g}undg@@g
following:sub-headings. ' '
i)  Period of harvesting - v _ (2mks)
ii)  Transportation. ' , (2q1k_s).
8. Use the map of Afiica below to answer guestion, (a)
e e
/!/-— LR
L
a) Nameg; .
D) The mincrals mined in the shaded area marked L, M, N. (3mks)
/ i1) The mining town marked P. ‘ ‘ {Tml)
TERM 1 33 FORM 4~ GEOGRAPHY ~

Source central: Bureau of statistics
) §  Usinga scale of lem represent 20,000 metric tops, draw a comparative bar graph based on

i) State.two advantages of using comparative bar. ggap}aﬁ_ in data p1'¢§¢ﬂffa£i79{1' ( 3';1‘3, (S)
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i a0

A part from deep shaft mlmng, give three other underground mining methods. (3mks)-

iiv  Describe how shaft mining is carried out.. " (6mks)

¢) Explain four ways in which mining contributes to vthe ecohomy of Kenya. (8mks)

d) State 1m.u negatlve effects of mmmg on the envn'onment _ ' (4mks)

9 2) HW! m i (2mks)
i) Listthree characteristics of pasteral farming. ‘ > ‘ (3mks)

iii) Identify four factors which make zero grazing a preferred method of dairying compared to
pasture grazing. * " (4mks)

1) state four problems facing dairy famnng in Kenya. | - (4mks)

"‘\‘. L! |

| ii) 1de1|111uv four factors that favour dairy farming in Denmark. : ' . (4mks)

¢) Explain four measures taken by the Kenyan government to improve dairy farming in the country.

e (8mks)
10 | a) i) State three characferistics of intensive farniing. (3mks)
-ii) Oullme 4 factors that have led Kenya to change from subsistence farming to commercial
tarmm g. (4mks)
h)*?‘fi Nagm three districts in Kenya whe\re maize in grdwn'on a large scale. ; (3mks)
ii)  State four physical requirements for growing maize in Kenya. (4mks)
iii) E&;)Iain. four problems facing maize farming in Kenya. (8mks)
iv)  State three ways in which maize contrib’i;ltes to the economy of Kénya. (3mks)
.\l

ol
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W

¢) Name the products Z in : '
i) Plants ' (1 mark)

.....oo..-----.------o-o.-oo-o-----------o--.---;................-.a..-..-.-.--..-------a-n- -----------------------------------------------------------------------

...-...-...-.-..-..--..c-.------------------..-.----......c...-.-.-.-.--;--c..-.-.-.-..--.--c---.o---.o-.....--......-....-.o---------.----u----- ..................

d) What would be the fate of pyruvic acid if oxygen supply is availed in the mitochondria of an

animal cell. A : (2 marks)
e) What is meant by the term oxygen debt ? ' (1. mark)
a) Distinguish between natural and acquired immunity. (1 mark)
b) Define the term allergy (1 mark)

¢) The chart below shows the blood clotting mechanism.

'Prothrombin i L’T_l

re A
Y F - oY — Thomboplastin
ae
Thrombin
Fibrinogen s z

i) Name the blood cel]s represented by X (1 mark)
i1) The end product of the mechanism represented by Z (1 mark)
TERM | 5 FORM 4 - BIOLOGY 2



d) Explain how the following environmental factors increase the rate of transpiration.- - tk

i) Temperature s ‘ : : 2 marks) )

ii) Humidity e Tl (1 mark)
.................................. 1

............................................... 88 8800008008000 000000000050000000000000000000000000re00renrieenrParsPErierPRsrerorsorIorIseioisrnrRecIreseecsesosse

iii)Atmospheric pressure ' (1 mark)

...................................................................................................................................................................
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SECTIO B : (40 MARKS

Answer question 6 (compuisory) in the spaces provided and either

questlon 7 or. 8 in the spaces provided after questlon 8.

6. Inan expenment 900 viable seeds of a certain species were divided mto groups of 100 seeds each.
Each group of seeds were placed at different temperatures but same conditions of air and moisture.
The percentage germmatlon was determined after 10 days. The table be]ow shows percentage

. germmatlon at various temperatures

135

‘40

Temperature°C| 0 | 5 | 10 | 15 | 20 | 25 | 30 45
%germination | 0 [ 0 | 2 | 5 |16 |50 |8 [30 ) 2 |0
a) Using a suitable scale draw a graph of percentage germmatlon against temperature on grid
provided. (6 marks)
Rus
TERM 1 7 FORM 4 - BIOLOGY 2



i), 5°C1

-------------------------------------------------------------------------------------------------------------------------------------------------------------------

RNttt etetstteeteatttsensetenttatnteetttantednentnnienanenonnentennnnssas

-----

..................................................................

®94i0eserossesncnssscanse

ii) 30°C (3 marks)
m)45°C (3 marks)
‘ {
.---..-..-.-.‘..........--.-..-........-‘. ---------------------------------------------------------------------------------------------------------------------------
¢) Explain the role played by each of the following factors in germination of seeds.
i) Air . (1 mark)
[ ;
i1) Water 3 marks)
d) State one hormone that stimulates germination (1 mark)
7. Describe the role of hormones in the human menstrual cycle. (20 marks).
A
8. Describe how gaseous exchange takes place in terrestrial plants, (20 marks)
TERM 1
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-----------------------

2. Give two characteriStics that dl_atmgmsh scientific names.of organisms from the ordmary nal(nes. s)
2 marks

3. A student was viewing a slide preparatlon of onion cell under high power objective Iens of a light
microscope and observed that the features of the cell were-blurred. :
a) Name the part of the microscope the student woqu-use to.obtain sharper focus of the, features.
By ¥ o (1 mark)

b) State the function of mirror in a light microscope. (1 mark)

.................................. $ 0880000000100 000080070000000040000000000P00esroattisIssertercntaruresserssesoesceaseseresesaseressoatonseessnasntsoasesecarsses

4. a) Guard cells are specialized epidermal cells. State two structural features which suit them to their
functions. (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

....................................................................................................................................................................

R

S. State the importanceof blood caplllarles of the skin vasoconstricting when body temperature is below

‘normal. (2 marks)
3
......................................... e S e R e e B e e U A o e
6. State three characteristics that make alveolus and buccal cavity suitable for gaseous exchange.
(3 marks)
.................... T AU PP
7. State the role of light in photosynthesis (2 marks)
..-.u---.--...u: .................. e S hes e e @sse00s000ss00sssenserrEse 9099 00000000000000060000000000000000080000000000080000008000000000000800 sseee
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8. The diagrams below shows a red blood cell that was subjected to a certain treatment.

At start At the end of experiment

a) Account for shape of the cell at the end of the experiment. ‘ (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

b) Draw a diagram to illustrate how a plant cell would appear if Subjected to the same treatment.

(1 mark)
9. The diagram below shows a stage in mitosis in a plant cell
a) Name the stage of mitosis. i e \ (1 mark)
b) Give two reasons for your answer in (a) above (2 marks)
¢) Name the part of the plant from which the cell used in preparation was obtamed (1 mark)
10. a) What is seed dormancy ? (1 mark)
b) Account for the following phases of a sigmoid curve of growth of an organism.
i) Lag phase ; (1 mark)
ii) Plateau phase (1 mark)
TERM 1| 3 FORM 4 - BIOLOGY |



11. a) Name the causative agents of the following diseases in humans. (2 marks)
i Typhoid ;s e et el s o i ...........................................
ii) Amoebic dysentery PR e N e,
b) Name the disease in humans caused by plasmodium falciparum. (1 mark)

12. a) In what form is energy stored in muscles. - (1 mark)
b) State the economic important of anaerobic respiration in plants. (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................

13. Give the functions of the following parts of the heart.

14.

15.

i) Pericardium - ‘ (1 mark)
ii) Coronary vein (1 mark)
i) Name the two main antigens that determine human blood groups. (2 marks)
i) State the symptoms of haemolytic disease of the newborn. - (1 mark)

...................................................................................................................................................................

...................................................................................................................................................................

Form 3 students from Bidii school were estimating population of grasshoppers in their school field.
They caught, marked and released 300 grasshoppers. - The following day they captured 278
grasshoppers out of which 80 had been marked.

a) Calculate the population of the grasshopper. (2 marks)

...................................................................................................................................................................
..................................................................................................................................................................
...................................................................................................................................................................
...................................................................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................
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16. Below are some parts of a male reproductive system, state how they are adapted to their functions.
) : (4 marks)

i) Testis

s e B o s e
e e e e
e

T SR Gl

...................................................................................................................................................................
...................................................................................................................................................................

e e ert s rosassersdesdloennmalisesbasapsessscnsorasoharasssssssssoscossessasssvesotassrpessvecszestissanaegntpo ot siii st e

b) Give a reason why pyramid of biomass is a better representation of an ecological relationéhip.
(1 mark)

18. How is.the aerenchyma tissue adapted to its functions ? (2 marks)

B e et rsssanesnanson e ensssasssosreresvaspestevsesesussnbsosansssosoanssoshssopsasaibasocesssecpesonssseooseeair et Pea St Ninat a TS

19. Though transpiration can cause death of a plant under certain environmental conditions, it is
nonetheless very important to the life of a plant.

a) State three important roles of transpiration. (3 marks)
b) What circumstances would transpiration lead to death of a plant ? (I mark)

...................................................................................................................................................................

...................................................................................................................................................................
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20. The equation below represents a metabolic process that occurs in a mammalian liver.

Aminu'acidsm Organic + Urea

compounds .

L

a) Name the process represented by the equation above, ' fi' s (1 mark)
b) What is the importance of the above process in mammals ? (2 marks)
¢) What is the source of amino acids in this process ? (1 mark)
a) Distinguish between resplratxon and gaseous exchange (2 marks)

...................................................................................................................................................................
...................................................................................................................................................................
....................................................................................................................................................................

...................................................................................................................................................................

b) The oxidation of a certain fat is represented By the chemical equation shown below.

Cs7H10406 + 810, ————» 57C0, + 5H,0 + energy

i) Calculate the respiratory quotient (RQ) of the fat molecule above. (2 marks)

TERM | 6 . FORM 4 - BIOLOGY |



b) State how part labelled Y is adapt_e‘d to its function. ‘ (1 mark)

i) Chemical changes in living organisms (1 mark)

!

B o e e e el S e AR e T e P S e
%

ii). The relationship between organisms and their environment (1 mark)

...................................................................................................................................................................

24. Study the diagram below and answer questions that follow.

7 /\§Cover
: : Ground level _ Support level

X
R, ) /
e, ,;',J //o/c // /
00 7y
% bty
i) What is the name given to the apparatus shown above. (1 mark)
ii) What is its use in biological studies ? (1 mark)

...................................................................................................................................................................

25. The graph below shows the relationship between the percentage water content in the atmosphere and
the rate of water loss by a certain terrestrial plant.

- 147
12t
Rate of 104
water loss

8..
6..
4+
2

0 5 10152025303540
% water content in atmospere

a) Explain the relationship indicated by the above gréph. . . (2 marks)

....................................................................................................................................................................
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pping of leaves on a hot sunny day minimizes the rate of transpiration in highei"
plants (1 mark)

.............................................................

28. Stat Lite

..................................................................................................................................................

............................................................................

29. Anibiidia and Archegonia are male and female producing gametes respectively.
a) Stue the plants in which they are found.

......................

...................................................................................................

-----------------------------

i)

............................................................................................................................

...........................

¢y !

..................................................................................................................................................
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SECTION A : (40 MARKS)

-veo. Answer all questiofisiin/this Section in-the spaces-provided: +-+-++«<+

: v W ‘ VIR % _
The diagram below represents a generalised -cell“structure'a‘s seem under-an ‘electron‘%icroscope.

8105

IO 2 B
3 LS

29900000000000000000000000000000080000000000

c) What différence would be observed between electron mlcrograph obtamed from a cheek cell ofa
trog and the one above (2 marks)

------- e e 2009900000 00000000000000000000000000000r00000000000000000000000000 sveses PP e UUEr P00 000000000000000000000000000000000000
------ T e e r et aeotttes0essaeersesesss s s asssssesessssnresssttntesssssessssnss D T T S P sseccscscssencovece

evessvsReeressaseerest tsssabesnasredate OCOAGO00 esensaserees 5

d) Explam the function of structure Iabelled T R 5 S : (1 mark)

.......... § 00 Rree0r0000000000000000000000000000000000000094000000000

®secccsssessvenns B b bbb S LA A A S

®scescesesenassessssscscnse eess e TR T YEe U SR L T Lo e T T e Ty 3990000000000 00000000000000000000000000000

{ {
{ L e e e oz el

T v SR re e Y% Gty Qo daaae W
FASS NI ot \in 1ot sEniisaen 3 N9GRG KOIZoKL 30 Aoomka bl
50

L}
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2. Study the food web below representing a certain ecosystem and use it to answer the questions that

follow. :
/v Locust \
Grass v :
\ Guinea fowl
_ Caterpillar/ \4
: Vulture
Antelopes —— Lion /
a) Distinguish between a food chain and a food web. A ' (1 mark) -

b) With a reason, name the organisms that would have the largest biomass.

L0722 T T el RS O i o G e et e (1 madrk)
Reason . (2 marks)
¢) Write down a food chain in which vultures are tertiary consumers. (1 mark)
d) What would be the effect of introducing gazelles and termites into the ecosystem ? (1 mark)
e) State the trophic level occupied by the lion in the food web. (1 mark)
f) What would be the role of bacteria in this ecosystem ? (1 mark)
TERM 1 3 FORM 4 - BIOLOGY 2



3. Explain how the following parts of the mammalian skin are involved in lowering the body
temperature. 7

i) Sweat glands (2 'marks)
ii) Erector pilli muscle ' (3 marks)
iii)Blood vessels . ; . (3 marks)
Rt T e L
4. Study the flow chart below of a process that takes place in both plants and animals.
CsH1208
1y Enzyme controlled
, ‘| Chemical reaction X
A
Pyruvic Acid
nzyme controlled reactions vt
EI o %anel e§ o} tﬂe ce f
in absence of oxygen
Products Z | poth plants and animals
a) Name the above process. b et i (1 mark)
b) i) In the above process name the chemical reaction represented by X. . (1 mark)

if) Name the part of the cell where the enzyme controlled reactions in b(i) above takes place.(} mark)

B e e e et ererer P eretotsnereorrnneoseora e aat000000ro0r 0000000 0sioroero0 00000000000 0000000000000000000000080000000000000s0000000e000esrsassitansesscessestesess
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1. The pﬁotographs below shows two different lifecycles of two animal species. Study them carefully
and answer the questions that follow. ,

; CYCLE ' 2 el
a) Identify the type of development represented by each cycle. | (2 marks)
TN EAY s Y W A e e b e i S L A
| Y e b R o e e e T - O el 1 e L B T O e K vt el
b) i) Name the phylum to which the organisms belong. (1 mark)

...................................................................................................................................................................

1i) Name the class to which the organisms belong and state two distinguishing features found in the
members. (3 marks)

...................................................................................................................................................................

...................................................................................................................................................................

....................................................................................................................................................................

_Stage P ; : Stage R

..................................................................................................................................................................

..................................................................................................................................................................

.—]
™
=
<
S}
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2. You are provided with the following apparatus and solution

- 2 visking tubing

- solution P

- solution Q

- 2 beakers

- distilled water

- lodine solution

- Benedict’s solution
- Threads

i) Test the beaker water and solution P in the beaker using Benedict’s solution. Record your results
in table below. : (2 marks)

Procedure : - Observations

Solution P

l@aker water

Tie one end of the visking tubing and pour solution P into the visking tubing and tie the other end.
Set up the apparatus as shown in the set up I below.

ii) Allow set up to stand for 30 minutes then test the water in the beaker and solution P in the visking
tubing with Benedict’s solution and record your results in the table below. (2 marks)

Observations

- —

b) i) Observe solution Q and iodine solution in the beaker. Record your observation in the table

below. * (2 marks)
Observations - Lk
"i: v ."
Solution Q -
|Beaker lodine ' 3

FORM 4 — BIOLOGY 3
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Tie one end of the visking tubing and pour solution Q into‘t.he visking tubing ai;d tie other end. Put
the visking tubing with the contents in the iodine as shown in the set up Il below. '

ii) Observe the colours again after 30 minutes and record your observations in the table below.
: . (2 marks)
[ Observations
_ [Solution Q
Beaker lodine
lsilution
¢) Identify the food substances present in :
i) Solution P 3 : : (1 mark)
i) Solution Q (1 mark)
d) State the function of the food substances in (c) above in the animal body (1 mark)
e) Explain the changes that took place in : ' '
Setup 1 + (2 marks)
Set up I1 . (2 marks)
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‘BLACK

3. a) Photographs below represent specimens taken from two species of plants.

......... 4o teeeaeeaee0ee000000800000808000000000000000000080000000000080080000000000500000080000000esT00rT00t0ncT0ceeteqhocesnscasesassessresssasane

tecccctascassacssesnanea ecesccacsccnce £ 980000 00400000000000000000000000000000000000000000000002000000000000000000000000seceiooRIorcIRccnse0c0essacndssassnaccagras

ii) Identify the sub-division to which the specimens belong. - SRR Y (1 mark)

e i
R R R R YN $000000000009000000080000000000000000080RRRGRRSRRRS
E G

iii)Suggest the agent of pollination of the specimens. . .. "+ ok (1 mark),

S 0000000000 0000000000000000000000000000000000000000000000000000000000008000(0000recraritrstettesorisaseseiasnsnsitosnoceassrecitecerarsross)ooieseesecesnsreesnas .

iv) Give reasons for your answer in a(iii) above. .. - A : : (2 marks) .

b) i) Name the phylum to which the animal belongs. . iy (1 mark)

------ B L O O P
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-------------------------------------------------------------------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------------------------------------------------------------------

~ ¢) On the photograph label any two parts. (2 marks)
d) i) Name the class into which the organism belongs.. (1 mark)
ii) Give one reason for your answer in d(i) above. (1 mark)
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1. a) Define isotopes. (1 mark) |

...................................................................................................................................................................

b) Determine the number of neutrons in ;0 (1 mark)
2. State two differences between luminous and non-luminous flame. (2 marks)
(]

...................................................................................................................................................................

....................................................................................................................................................................

...................................................................................................................................................................

b) When alcohol is heated, it changes to gas at 78°C.

i) What is the name given to this temperature? (1 mark)

ii) What will happen to this temperature if an impurity like salt is added to ethanol? (1 mark)

4. Starting with copper metal, describe how one can prepare a solid sample of copper (II) carbonate.
(3 marks)

...................................................................................................................................................................
...................................................................................................................................................................

B A R P R R

S. 12.5cm?® of 0.1M sodium hydroxide solution required 5.0cm? of dilute sulphuric (VI) acid for
complete neutralization. Calculate the molarity of the acid. (3 marks)

...................................................................................................................................................................
...................................................................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................

6. Elements M and N are in group II and III of the periodic table respectively. Both belong to period 2.

a) Compare the ionic radii of the stable ions of the two elements. (2 marks)

...................................................................................................................................................................
....................................................................................................................................................................

...................................................................................................................................................................
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b)

10.

118

Write equations to show the formation of the ions of M and N. : (2 marks)

---------------------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------------------

Metal S removed oxygen combined with P, Q reacts with an oxide of R, but not with an oxide of P. P-
reacts with cold water but Q does not.

Which is the most reactive metal? : (1 mark)

...................................................................................................................................................................
Rt A R e R O D Oy X O T T3 o X O L L O R Pt P T Sy e b o e i

...................................................................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................
— S
oes )
AR

— LR e ‘ ;
When 94.5¢g of hydrated bafiiihi’h/y\droxide,ga(OH)}ﬂHZO were heated to gonstant mass , 51.3g of

- unhydrous barium hydroxide were obtained. Deterritine the empiricat fortula of hydrated barium
hydroxide. (Ba =137, O=16, H=1) et RNl (3 marks)

M {1
)
A

G A S L e o S O T CE R e R R S i e et
R o DO L O U Bl P e L 0D LD o A r AR b S oy DA LR S e i e i )
...................................................................................................................................................................
e e e G R L O e e O B U R oGO A3 ey e i s e o e R e

--..-.-......................-.....---...--......-...................-..---.----.--..-----..---...--..-........... .................................................

Explain why the boiling point of ethanol is higher than that of hexane. (Relative molecular mass of
ethanol is 46 and that of hexane is 86) . (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

a) Explain the observation made when excess chlorine gas is bubbled through, a colourless solution
of potassium iodide. . » (3 marks)

...................................................................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................

A form three student heated copper (II) nitrate solid to a constant mass. Given a wooden splint and
wet litmus paper, state the observation made and the products formed.
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a) Observations made ‘ ‘ : (3 marks)

sesscrsvsesoscnne sessevses e e g e e ettt e reseasretrtssececettoerrnenntertsotssttsstsranvnasensesetiosenren sessserecee essssevessssecass cessssuvence
teservsssannsstensrnanes BT O N cessrnare cevseosee . Shescersrecriiencecsescsnceanseins. “vesssesaas
B A 2
eseveertansanes ssesscsns evessrennenen Ssssereereransananmassnnrtisrsserannarsinnsy seereses evescans cosvaes wwpesaccsseses eesssisiessresecetesansanenns sessssscascenes
4 BT
har
tesseststeseescnnncennnes St ere et smamueeesratttrnstesentettatartertottstttnranan seeteevecesnnenne sevessbeeses sesssacerececss sesesscssescees sesscensanee sressses eonre

b) - products formed. : ; et ia (3 marks)

ssssscvesssence sqeserssssen vesacs vesesas vecescscanses sesvassscasssnnse D T P R T R R TR P sesrsen sesssssccsrenansnsranes sessesnssesaennian
..................................................... e e e e e ottt et taseoneersererissiostssesisssestsiesosssiensssessorensesssses oresseassistssnontsssessessested
sesesesessessccsnsnacnas wessene :..u............. ................... sevreene sseases vessssnenans Vesesvsssee eevvesInstssvensretestsovne sevevane sesevvsenssesnnsesnsen
----- O O E 8 e e 00 e 0000000 ub0saasenesnsssesesrtoseessensennssssshssetsrvsvestonannsussterssoressstonsetssssyossssssssesesssssssssrsssssassnsovsosesosstessses

12. Using equations, explain why silicbn chloride and phosphorus chloride fume in air. (3 marks)

-------------------- .-.-.......................................--.....o---------nunu.................-..........-....n...-..-......o.n..-.-...u.-._-....-u---
seessesssnacs esssesesessvssescaavsascase 4essecvsisecssasansdncens eevecrnes esasene “svsssnsacaen doesseveccnane sevesresvace $Vssesesusesanseanvacasoans sesseres devees
T T Py B R R T R PP PP ssesesesen vecone tesescesnacrenane ¢esvesesueversnnanne evesscssenseccrrcans sescecne .
sesssseses L D PP tesesacraseve 4e00eststancenrevarnasecssasrnsssren esevssserevessicncane veveececen

13. 100cm® of oxygen gas diffuse through an opening in 10 seconds while as 150cm?® of an unknown gas
X diffuse through the same opening in 12 seconds. Calculate the molecular mass of gas x (g)=}6%(
{3 marks)

Inverted

a) Write the equation for the reaction between sodiura chloride and concentrated sulphuric acid. ;
: : (2 marks

...................................................................................................................................................................

...................................................................................................................................................................
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...................................................................................................................................................................

...................................................................................................................................................................

B T D O o DO T OB D e O e e e e e B o

...................................................................................................................................................................

...................................................................................................................................................................

....................................................................................................................................................................

16. The set-up below can be used to study the reaction of magnesium and steam: X
Wet sand Mlg ribbon GasP
|
Heat
a) Name gas P. (1 mark)

...................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................

....................................................................................................................................................................

17. List three observable changes made when hydrated copper (II) sulphate is heated in a boiling tube.

(3 marks)
18. Give the systematic name of the following orzanic compounds. (2 marks)
i) CHa= (f-CH-—CHz
CHs

..........................................................................................................................................................
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19.

20.

21.

b)

22.

if) CHs CHs
Chs-C~-C - CHs
i _
chs H-

-------------------------------------------------------------------------------------------------------------------------------------------------------------------

The molecular formula of a certain hydrocarbon is C;;Has. The hydrocarbon can be converted to other
hydrocarbons as shown below. :

400-70°C '
ChH,,——————x+C,H,
Draw and name the structural formulae of X. _ (2 marks)
What is the difference between hydroscopic and deliquescent salts? (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

The diagram below represents an incomplete set-up for preparation of dry sample of gas R.
Ammonium chioride :
and calcium hydroxide

Complete the diagram to show how a sample of gas R can be collected. : (2 marks)

Write a chemical equation for the reaction that produces gas R. (2 marks)

..............................................
.....................................................................................................................

......................................
..............................................................................................................................

a) One of the uses of sulphur (IV) oxide is bleaching wood pulp in industries. Explain why paper that
is bleached with sulphur (IV) oxide turns colour to yellow when exposed to sunlight. (2 marks)

......................................
.............................................................................................................................
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b) Name the products formed when sulphur (IV) oxide reacts with aqueous calcium hydroxide solution.
. (2 marks)

...................................................................................................................................................................

....................................................................................................................................................................

(2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

23. In the last stage of solvay process, a mixture of sodium hydrogen carbonate and ammonium chloride
is formed. ;

i) State the method of separation used. , ; (1 mark)
11) Write an equation to show how lime is slaked. (2 marks)
iil) Name the by-product recycled in the above process. (I mark)

...................................................................................................................................................................

24. When potassium nitrate is heated, it produces potassium nitrite and gas C.

a) Identify gas C ‘ (1 mark)

b) Name the type of reaction undergone by the potassium nitrate. (1 mark)

¢) Write the equation for the reaction in (b) above. (1 mark)
TERM 1 7 FORM 4 — CHEMISTRY |
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g)

h)

The table below shows some elements of the periodic table and their atomic numbers, atomic masses

and melting points. The letter are not the actual symbols-of the elements.
Element Blc|p [e] il Fmibr] s [k
Atomic No. 7 -8 |19 |15| 2.1 9 | 6 [a6]12 |11
Atomic mass 1 14 | 16 | 39 |31 4 | 19 ] 12 32 40 | 23
 [Melting point °C_|-209 {218 | 63.7 |44 |-272 |-223 |vary[113]669 98
Select two elemcnts‘vgﬁh the valency of 3. iy (1 mark)
...Kz'“':. .......... . ........................................................................................................................
Which element is ;he most reactive metal ? Explain. (2 'marks)
How does the atomic radii'of D compare with that of K. Explain. (2 marks)

How do you compare the electrical conductivity of elements J and K. Give your reason. (1 mark)

...................................................................................................................................................................

Select two elements which when reacted with element G form a compound that conducts electricity
both in molten and in aqueous state. (1 mark)

...................................................................................................................................................................

................
...................................................................................................................................................

D Group; St il S s ket AR b (6173 (5] 1o o SO T e A e o e e s, (1 mark)
Periode i e il e e Rl S A L Period=sntiahmismiatoyinei S o (1 mark)
Explain why the melting point of element K is higher than that of D. (1 mark)

................................................................................................................................................................

) Waters. i e i oo G e e, oS e e Dt R OCT B LU SR Ses i o I EOED Vi iy e (1 mark)
B) PAraffin.....cicicdvosivins s s st s s b s e o A s S (1 mark)
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2.

a)

b)

d)

f)

Study the scheme below and answer the questions that follow.

H HY
Il
c—-C
A
oq’b H H o
CH3CH3s OQ’
ro%s : "KMnO,,
H S |H.C=CH, [q H' [A]
2 s"b
Excess sta"
Sublstance (o) Ce H OSO20H
- Br, G : Tl
; H—C—C—H
T S [t
| | H H
H—C —C—H
| I Process| water and
OH Br : E warming
D + H,80,.q)
Draw and name structural formulae for: (2 marks)
i) Substance A
ii) Substance D
Name (2 marks)
1) R PEOCESTIB s hrelore et oot b e Bl e A e s as o et et e SR B
ii) Process E......ccceoevereuennnens PSR (N S e R Jop w5 L T
Write an equation for the reaction involved in process H. _ / (1 mark)
Name the f'ollowing substances : (2 marks)
i) Substance C .......................................
1) SUBSEANCE G ..vithasesasssssinssionsoesses ssssnsssnsipassihdhisssondasionsmenssosssssssssnasenssbanssenestassssnsnispssnsse st sesp s s tanese s
State the conditions necessary for process H and B to take place. (2 marks)

...................................................................................................................................................................

If compound J has a molecular mass of 282. Determine the number of monomers that is made of.

(2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

.—!
m
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<
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.......................

b) What happens to the anhydrous copper (II) sulphate at the end of the experiment? Explam your

d)

observation. (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

What is the name of the reaction between copper (II) oxide and hydrogen? Write the equation for this
reaction. i (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

Name one solid substance which has a similar function to that of hydrogen in this experiment? 4
(1 mark)
What is the identity and function of C? (1 mark)
. In an experiment, the following figures were obtained.

Mass of porcelain boat =7.8¢g . :

Mass of boat + copper oxide =9.8¢g '

Mass of boat + substance remaining when cool=9.0g
i) What is the mass of copper oxide? (1 mark)
1) What is the mass of oxygen present in this mass of copper oxide (1 mark)
111) What is the percentage by mass of copper in this sample of copper oxide? (2 marks)
............................. I..............................-u--.-.........-....-..--..-.........................-.-....................-.......................-..
1v)Calculate the empirical formula of the oxide of copper (Cu=64.0, 0=16.0) (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................
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4. The flow chart below shows a Sequence of reactions involving a mixture of two salts, mixture M.
Study it and answer the questions that follow.

. lMixture M,
Step 1| -Add water

,.Filter
, ISolid N' l Solution P ,
Step Il |Heat Step Vi |-Acidified Ba(NO,),,.
4 .Filtration

Black solid Q and
a gas which forms

a white precipitate - Colorless] . hit
when bl?bbled through Solution g‘élilde
Ca(OH)yoq) Add NH,,,,

(aq)

Step lll | gil, H,S0,

White pecipitate |
disolves to form
a clear solution

Blue solutions
Step IV N Step V

Excess NHyq) Mg,
deep blue I Products l

solution L

a) Write the fom&ula of the following: ’
i) Anion in solid Q : : (1 mark)
u) The two Sahs presem . l n mlxwre M ..................................................................................... (]mark)
; Wntethe!omcequanonforthereacnonmstepw .................... (]mark)
« Stateandexp]amthe()bservanonsmademstepv ................................................................ (zmarks)

...................................................................................................................................................................

...................................................................................................................................................................

.......-............-.-.-......-.-...-.-.-....-.-...v................u.-.--~-...--.-.-.-.....-.--......-........................ ...................................

...................................................................................................................................................................

.....................................................................................................................................................................

....................................................................................................................................................................
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5,

D

The flow chart below shows the contact pfqpess (manufacture of sulphunc (V1) acid).

‘| .Metal z :
sulphide S Burner [—Air

S s So,
“Cpp [ H:S04q : Purifiee—Air
| 1 252 A .\ 2 \ <
Catalytic chamber
Substance Q 2

soh e Water

Name the catalyst used. (1 mark)
Name substance Q and give it's formulae. (1 mark)
Write the equation for formation of substance Q (1 mark)

...............
.....................................................................................................................................................

What are the optimum conditions necessary for the contact process? (in terms of temperature and
pressure) ; (2 marks)

........................
...........................................................................................................................................

...................
................................................................................................................................................

...................................................................................................................................................................

i) When concentrated sulphuric (V1) acid is exposed to air for some time, its volume tend to.increase.

Explain this observation. (2 marks)

ii)

iii)Write the formula for sulphuric (VI) acid and sulphuric (IV) acid. (1 mark)
6 FORM 4 — CHEMISTRY 2

TERM 1



6. Study the diagram below and answer the questions that follow.
alkaline pyrogol Anhydrous
: CaCl2 ,
~a) i) The solution inreagent bottle:A is used to absorb CO, gas, name the solution and write the
- equation for the reaction of CO, and the solution. (2 marks)
i) Name one impurity of nitrogen collected through this method. (1 mark)
b) Ammonia undergoes catalytic oxidation forming an oxide which is further oxidised to form Nitric V)
acid as shown below. '
: 4NH 4, +50,,, - 4NO ,, +6H,0,
4NO,, +2H,0,, +30,,, - 4HNO; .\ »
. 1) If3200cm?® of NH; were oxidised, calculate the mass of nitric (V) acid produced. (MGV=24dm?,
N=14, H=1, 0=16) (2 marks)
ii) Urea [Co(NH,),] and NH,NO; are nitrogenous fertilizers. Which is the most recommended .
fertilizer? Show your working (C = 12, 0=16, N=14, H=1) (2 marks)
¢) Magnesium reacts in air forming two substances.

i) Name the two substances. (2 marks)

o
...................................................................................................................................................................

e e e e e e 0 0ot s oot ererstsreeesrersoresrrereeesooeesesosecsosessosssceseessoesiessseseteoessssecssssassssseessesssesssossesessesesossseatonsassesssnns

ii) When litmus paper is added a solution of one of the product c(i)'abo_ve:, the litmus paper turns blue.

Using a chemical equation, explain the observation. (2 marks)
iii) What is "laughing gas". (1 mark)
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--------------------------------------------------------------------------------------------------------------------------------------------------------------------

Gas jar
Heat
a) Identify two mistakes in the set-up abeve and suggest how they can be rectified. (2 marks)
b) Name gas x. (1 mark)
c¢) Write a balance équation for the production of gas X (1 mark)

...................................................................................................................................................................

e e o0 et e e eee0neeesreeae s e n0esecsssrensenrentserertsreeneneresnsesssssssiesesetsesnsessinsesessssessssssessssssesseonesssenessseneresesessesiersessns

....................................................................................................................................................................

¢} Ammonia gas was breught into contact with gas X:
i) What was observed? (1 mark)
if) Write the equation for the reaction. (1 mark)
f) Stute the role of concentrated sulphuric (V1) acid in the conical flask (1 mark)

...................................................................................................................................................................

g} A teacher told students not to prepare gas X on the laboratory bench. Suggest a reason for this.
(1 mark)

...................................................................................................................................................................
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1. You are provided with three solution K1, K2 and K3.
-~ Kl isa solution of sodium hydroxide containing 1.05g of solute in 250cm® of solution.
. = K2is a solution of a monobasic acid HX
“- K3 is a solution of an anhiydrous metal carbonate, M;CO; (RFM = 106), contammg 5.3g of the
carbonate dissolved in 500em® of solution.

You are requu'ed to '
- Standardize the monobasic acid.. : :
- Determine the equahon for the reaction between the acid HX and the carbonate M2CO3

PROCEDURE 1
Using a plpette transfer 25cm? of solution, K1, into a clean conical flask. Titrate it with K2 (from the

burette) using methyl orange mdlcator Repeat the procedure recording your results in the table
below. ; : .

TABLE 1 ! | =
Final burette reading (cm?), -‘ . .

Initial burette reading (cm?)

Volume of K2 used (cm?) ' : (4 marks)
i) (Calculate the average volume of the acid used. (1 mark)
ii) Calculate the concentration of K1 in moles per litre (2 marks)
iii)Determine the concentration of K2 in moles per litres (3 marks)
.......................................... g A oo el ot o A s o oo & R O e S el R P T LR
PROCEDURE II.

Using a pipette, transfer 25cm? of the metal carbgnate solutlon K3 mto a clean conical flask. Titrate it
with K2 (from the burette) using methyl orange indicator. Repeat the procedure recording your results
in the table below. ;

Table 11 ' 2 ! m (A mari)

Final burette reading (cm3)

Initial burette reading (cm3) -

Volume of acid used (cm3)

i) Calculate the average volume of acid used. | 3 (1 mark)

...............
----------------------------------------------------------------------------------------------------------------------------------------------------

...............................................
....................................................................................................................
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ii) Calculate the concentration of K3 in foles per litre. (2 marks)

------------ uuunu--u.-n-u--"--uu.nuu.n"uu--.-un-.ou----n.u-ucu-v-u.-o-n-.uu.n..n.unounun-nq-unuuu-nuuuu-n-udn )
iif)Determine the number of moles of K3 present in the volume of K3 reacting. (2 marks)
iv) Determine the number of moles of K2 present in the volume K2 reacting. (2 marks)
v) How many moles of K2 reacted with 1 mole of K3. (1 mark)
vi) Write an equation for the reaction between K2 and K3. (1 mark)

................_.............................................m......-...........-................................ ...................................................

2.A You are provided with solid D, Carry out the following tests and record your observations and
inferences in the spaces provided. 2 :

i) Place the solid Dina boiling tube and add about 10cm?® of distilled water while shaking the mixture.
Filter the mixture and wash the residue. Divide the filtrate into four portions and then keep the residue
Yor part B. ' '

Observations . Inferences
(1 mark)| . (k)
TERM 1 3 FORM 4 — CHEMISTRY 3



ii) To the first portion, add sodium hydroxide until in excess.

QObservations Inferences

(1 mark) | ‘ (1 mark)

iif) To the second portion, add aqueous ammonia drop wise until in excess.

Observations i e ey [t Inferences

(1 mark) (1 mark)

iv) To third portion, add a few drops of lead (II) nitrate solution.

Observations Inferences

(1 mark) (2 marks)
v) The fourth portion, add a few drops of acidified barium chloride solution.

Observations ; Inferences

(1 mark) : (1 mark)

TERM 1 4 FORM 4 — CHEMISTRY 3



B. Place the residue in boiling tube and add dilute nitric (V) acid, little by little until all the.solid -
dissolves. Divide the solution into two portions. :

i)

Observations : ' Inferences

(1 mark) ‘ (1 mark)

if) To the 1st portion, add sodium hydroxide dropwise until in excess.

Observations ; v Inferences

(1 mark)] - - : (1.mark)

iii) To the 2nd portion, add aqueous ammonia drop wise till in excess °

L

Observations ] Inferences

(1 mark)| : : (1 mark)

TERM 1
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SECTION A (25 MARKS)

1. Explain why a few drops of oil soon spread into circular patch when they fall on a clean water
surface: (2 marks)

...................................................................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................

2. Water flows in a pipe of a varying cross section as shown in the figure 1 below. Holes A and B

develop with time. \/\

Hole B
_ If the holes have the same dimensions, suggest with reason which hole leaks more. (2 marks)

....................................................................................................................................................................

e e e 000000000 00000000000000000000000000000000000000000r00000000000000008000900000090000000060000+0008000000080880060000000080000600000000secesescensnsansse

3. A window cleaner accidentally dropped an appie a5 he Wa§ clcamng a Wmdow ofa tower 220 metres

above the ground. i ot
. @) If the air resistance is neglected how long will the apple take to reach the ground?
Take g = 10m/s? . _ (2 marks)

..................................................................................................................................................................

b) Assuming that he can shout-loud enough w1ll it be of any use if the window cleaner shout to warm
the people? (Speed of the sound in air = 340m/sec) (1 mark)

ek O o R R Ot L T T e gl o e

..................................................................................................................................................................

4. Without taking any measurement, how could you show that 1g of ice has a greater volume than 1g of
water. : : (1 mark)

--------.----..--n.--..---....uu.......-.-..c---.-------.---....--.....-‘--n.o-----o--------.---.-...--......--..--..o----....-.. ----------------------------------

...................................................................................................................................................................

N
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5. When a liquid is cooled in a glass flask, its level first riscs then falls, explain this observation, .
: (2 marks)

...................................................................................................................................................................

. ........-........-..n-.-..-------a---o-n---------.-.--.-.-.-..-.....-......-‘ -------------------------------------------------------------

...................................................................................................................................................

.................

6. The figure 2 below shows two identica

| burning splinters placed on a wood and metal blocks
respectively, state with reasons which

of the splinters will be extinguished soon,

(2 marks)
Flame
: e roerevery

o M 1‘1‘1‘2‘1‘1&‘%{{ HOS
4 / &%@({%ﬁ“xxxxxxxxxxxé}{

Metai

Wood v/
Burning splinters

...................................................................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................

7. A stoneis thrown vertically upwards from,

without bouncing on the ground below the
of the stone.

the cdgc.gg a flat platform. Eventually

the stone lands
platform. Sketch a displacement time

graph of the motion-

(2 marks)
Ar )
8. Water is known to bojl at 100°C, A student heated some water and noticed that it boiled at 105°C.
State two possible reasons for the observations. ioey (2 marks)

...................................................................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................




-------------------------------------------------------------------------------------------------------------------------------------------------------------------

....................................................................................................................................................................

10. State two factors that affect the constant of a splral spring made using a wire of a certain material and
of a given thickness. ] (2 marks)

S e erenerierero e rr e relornerreeiroror o eeseneeasoeseceooocsaroos seseiosesrsereniossesoeneseersonsressessassensessnssentstocsessesossssnssassasnsasse
...................................................................................................................................................................

................................................................................................

1¥. The figure 3 below shows a test tube with hot water placed equidistance between two thermometer A
and B. The reading are initially the same. :

D———— DA
i
=,
@@ ———— s
{

State with a reason, the thermometers that recorded higher reading 10 minutes later. (2 marks)

00000000000 00000000000000000000000000rre0a00re0000s000000000000a000500000000000rcs sres0ercssseseesesseeescosiseserertssesosessestosossesseerssssntsssssscnsacs

....................................................................................................................................................................

(1 mark)

....................................................................................................................................................................

T e 0 0000000000000 000000000000sEsereneearIsnaretssesrenseeeserssnonoeeeeeeessoriereerntoniossseieceenseenenoseesrsseeseates000e0eses000000000008000000000000

...................................................................................................................................................................
...................................................................................................................................................................

00 r00000000000000000r000000c00000000000000000000v 0000000 NN E 0000000000 caceressnseseasstseeestrtesdsecsesoeseseretssssseseresstssecetnetsseesensscsossesess
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14. The diagram 4 below shows an empty wine glass.

15. a) The ﬁgure 5 below- shows a copper block of mass 1 8kg wnth the holes at the top. An 80W healer is
placed in'one hole and a thcrmometcr in the other.

Th_grmome;er —

———Heater

—Copper biock

The heater is thched on for 5.0 minutes. Assume that no heat energy is lost from the blocek.
1) Calculate the energy supplied: to the block: (2 marks)

--..-..--.unon.u-.-u--uyounu'on--.-u.u-u.-u.c-¢u--.u-;nn-u.uu-’u"us' a3

------------------------

TrIeTees s enasteracatanntaiTerntsctttitnecestcanesnirrnsntcnccsnnnnnensnsses

-ou.u-".u.on..u.-q-.oo--_--uo-u-u..oncn-— -----------------------------------

i The specnﬁed heat capacny of copper is 3901(kg"C) Calculate the rise in temperature of the block.
3 & . (3 marks)

-------------------------

et e s e Sacensentesinatessprcepersesersenanrsraneacerasiaranesssreensarhe

D e e ee e oerarasarpesantiversrsacissscatansarassssspamsssanensotosssisosiiiant

e e e ettt ar e taesenrner teceiotenetnvansasonretisnsiyennnsietshotoniilil, it

5om ~ FORM - PHVSIES 1



b) The figure 6 shows a shallow dish containing a volatile liquid. The bulb of a thermometer is

dipped in the liquid. A jet of air is blown over the surface of the liquid, so that the liquid evaporate
rapidly.

Thermometer

Liquid

.

—Shallow dish
State and explain what happens to the reading shown on the thermometer. A (2 marks)

-------------------------------------------------------------------------------------------------------------------------------------------------------------------

...................................................................................................................................................................

c) A beaker contain 60g of hot substance, initially in the liquid state. The ﬁgure shows how the
temperature of the substance changes with time as it cools in.the laboratory

i) Use the graph to determine the melting point of the substance...............coeerreueeenes (1 mark)
il
Ny
R : i
51
HS N\
0} ;f { (& l—:
d 4 ;‘T d ’ﬁl

¢) ii) Given spccific heat capacny of the liquid is 1.75)/g°C. Calculate the loss of thermal energy
(heat) from the liquid between t=20 and t = 20 seconds. (2 marks)

.................................................................................................................................................................
...................................................................................................................................................
............................................................................................................................................................

...................................................................................................................................................................
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iii) Between point A and B, the, temperature is.constant as the substance charged from liquid to solid,

s

Explain why the temperature stays constant even though thermal energy-is lost by the substance.

(2 marks)
16. a) State the principle of moments. (2 marks)

b) A uniform metal stri

2.7g/cm’.

The strip is placed on a pivo

p is 3.0cm wide, 0.6cm thick and 100cm long. The density of the metal is _

t and kept in the equilibrium by the force as shown in the figure 7.

R
N
20cm | 15cm
b 207 "1 uniform plank
| D) e ® e
: y
' F - W

.....................................................................................................................................................................

Sssesressentetrstenasasnnsaiitsestatososiesanenuesbatbeansontesessirirtestnarentasasesessnnesentennerenrsssesensennnsbuieseosssiornssessssnanseenesansnssnrnnrns
B S e < T S SN
i) Determine the values of F and R. :
Dr= g (3 marks)
iR (2 marks)
------------------- tll\btibl'..'.1!0'.-.--!--."'--..l.ltvitn-asp-.l-ll'-nslo‘oﬁ‘OIi'l.l'll..tl..'-lIv"I-blliiiQil:l‘l‘-lll-bi)lll'llli--huil-ll‘-'-lu\.lll--,'-ul-!
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b) iii) X is the distance from the end of the plank to the point of applica_tion.of force F. Force F is now
applied at various point nearer to the pivot so that X increases. Equilibrium is maintained all the:

“time. On the axis provided sketch the relation between force F andx: o * (1 mark)
F(N}M
X(cm) .
iv) Give a reason for the answer in (iii) above. bt (1 mark)

-------------------------------------------------------------------------------------------------------------------------------------------------------------------

0------o------n--------o.v-u.----.--.u....-gu..-c.o-..u..--.----..--oo----n-------------.-n--a.-----.oo---c.-.-----o-u--'.---.n------o-.---------- -----------------
SpiestcessecesessnseesetteteserestercestatsrstaseveresisYsnsTernestirereseitsussestnsaesasseisasseRbesresastrsernesiansenesestorteostnasitersnrontstnataco eiint

------..---.--.--o-.----.--...---..o-....--....o.-...--------oo..-n-.--------ao-----ooc--n-o-.-------.‘.~..-....----.....oa--..--------..-.---.----o.-.-----.-. ----

" b) Aman used a wooden plank to lift a log of wood from the graund to a stationary lorry on a flat
ground as shown in the figure 8 below. The wooder plank was inclined at an angle of 30° to the

ground.
wooden plank :
Ll )
A / N\
C
- 1) Show that the velocity ratio of the system is given as v.r = /g, yp0 - - " (3 marks)
_TERM | 8 E 'FORM 4 - PHYSICS |



----------------------------------------------------------------------------------------------------------------------------------------------------------------

......................................................................................................................... o T o S R
iii) Explain why the efficiency of the system cannot be 100% (1 mark)
. ©) The figure 9 below shows a pulley system.
ALLULALYVA VAN
i) §tate the velocity ratio of the machine. (1 mark)

----------------------------------------------------------------------

....................................................................................................................................................................

ii) Explain what happens to the mechamcal advantage of the machine as the load is increased
: gradually (1 mark)

..................................................................................................................................................

d) Water falls from a water tdll to the bottom "Fhe temperature is found to be higher at the bottom
'i‘than at the top. :

: l) Stalc the encrgy transformation,

- --........-uu----u---n-.n------..-....o.-.-"..---.---u---.----.~u.-u.nu-------..---.-.;.. ..................................................

a0 .n-oo-.--.-..--u..-----.--....---..--u---....------..-u“u-n.-u-----..un.--..i:.
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(2 marks)

b A LG UL L A OO T L T T TRy SR PPR e i e e SR S
...................................................................................................................................................................
...................................................................................................................................................................

..................................................................................................................................................................

i) Boiling water is poured into two identical flasks C and D.
is completely filled: Both are closed tightly. State with a re
likely to have higher temperature after some hours.

Flask C is partially filled while flask D
ason the flask in whi_ch the water is

(2 marks)

...................................................................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................
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b) In an experiment conducted in a laboratory 200g of clean icc is supplied with constant heat from a
Bunsen burner and the temperature changes and the time in minutes recorded. The graph of
temperature against time in minutes was plotted as shown in the figure 11 below. :

N D E

lo] &
A4

i

At point E all the water had vaporized.
1) Describe the observation at the section.

p s e e e A Rt v T el e e G RR D Sl T i (1 mark)

B s o S T NSty s B SRR s g (1 mark)

C D T e e e s RO T R A S o (1 mark)
ii) State with a reason Why section DI is larger than BC. (2 marks)

19. a) State Newton’s second law of motion. (1 mark)

...................................................................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................

b) A girl of mass 40kg stands on a scale balance in a lift. The lift is accelerating upwards. At one
instant the acceleration of the lift is 2m/s?. Calculate the reading on the scale at that instant. (2 marks)

.............................................................................................................................
...................................................................................................................................................................

...................................................................................................................................................................




¢) A resultant force F acts on a body of mass m causing an acceleration a; on the body ‘When the:
same force acts on a body of mass 2m, it causes an acceleration az Express a;, in terms of a,.
. ‘ (2 marks)

d) The figure 12 below shows the load -extension curves for two materials A and B of the same .

diameter and same original length. e
N
A
Load
>
‘Extension
i) State with a reason which material is stronger. % : (2 marks)
............................................. B eeseeesretesansesenseesanoranscesitesacnresnrsTasceroasretenteesesosunoaseenaEassTeassectarssstvenofeatasssrennresibe
ii) Sketch on the same axes the graph for a material that is more stiffer than A (1 mark)
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SECTION A (25 MARKS)

1. The figure 1 below shows two rays leaving an object O to a place mirror. Draw the two reflected rays
and use them to find the position of the image. (2 marks) .

SIS L LIS L L LLELLLLLLL fivror

Fig. 1
2. Explain why the image formed in a pin hole camera gets blurred when the hole is enlarged. (2 marks)

...................................................................................................................................................................

oncave and a plane mirror to examine the back of
(2 marks)

3. A dentist has the choice of three mirrors, convex, ¢
your teeth. State with a reason which mirror he should use.

.-............-..................................................-..-..-..-.-......-.u..............-...............-.-.-..-.......-..-..-..-..-.....-....-.. .....

..................................................................................................

4. Tigure 2 below shows an iron bar being magnetized by stroking it with a magnet.
: i S e

Fig. 2 '
: (1 mark)

Indicate on the iron bar the polarity of the resulting magnet.
eed of sound

ds a sound and receives the echo from a ship after 4.5 seconds. The sp
; ; (3 marks)

5. A sub marine sen
in water is 1500m/s. How far is the ship.

...................................................................................................................................................................
.

.................................................................................................................................................................

...................................................................................................................................................................

..................................................................................................................................
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6. State the role played by manganese dioxide in a dry cell. i (1 mutk).

............-..-.q-----------u.------..-....-..-..-..............,........-..-------o--n-.-.-.......-.....-..... .................................................

75 Flgure 3 shows a ray of white light falling on a triangular prism.

Fig; 3

Complete the diagram to show the way light emergéé through the prism. - ! 2 (2 marks)
8. Figure 4 below shows a solenoid through which current is flowing.
L[] ®

A compass needle is placed at point B. State with reason the cdmpass needle points.. (2 marks)

D D

g
' |

...................................................................................................................................................................

....................................................................................................................................................................

e = . i
t i
. -1 ;
1§
| !
H 1
0 : : 5
aa -
S e
e ; 1=+ 1’.;1? 1 ;r-‘- i
Fig. 5 :?.ﬁfism.:.;.\:h?l S R 52k
Complete the diagram to show: _ .
a) How incident rays are 1cﬂec1ed from the image. ; (2 marks).
b) The object positicn. : g (1 mark)
—-— FORM 4 - PHYSICS 2
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On the same diagram draw a wave which passes the point with half the amplitude and twice the
. frequency of the one shown. : : (2 marks)

~ 11. A positively charged sphere is suspended by an insulaﬁng thread. A negatively charged conductor is
suspended near it. Explain the observation. : (2 marks)

...................................................................................................................................................................
....................................................................................................................................................................

...................................................................................................................................................................

12. A heating is rated 100W, 240W. At what rate would it dissipate- energy if it is connected to a 220V

supply. : : : (2 marks)
13. State one law of reflection. (1 mark)
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14. a) Explain why some vehicle tyres contain graphite. (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................

b) The figure below shows two isolated electric charges near cach other.

Draw the resultant field due to the charges. : : (2 marks)

c) The diagram below shows three capacitors in an electric circuit.

[
U
C, = 8.0pF
1 ZROHEL C, = 5.0F
C, = 3.04F

Calculate the; _ ; '
i) Effective capacitance. 0 i (3 marks)
T R e PR L R O e I e e
ii) p.d across <, (2 marks)

...................................................................................................................................................................

...................................................................................................................................................................

....................................................................................................................................................................
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....................................................................................................................................................................
e T R S Y

e

b) A ray of light is incident on a water-glass interface as shown below.

n—1 33 40°

_ Water

5 # *-Gla ,=1-5-‘s‘ e e
C?’ fj: . ,?ﬁ ‘ii % s.g[,: o

Ayt pramot 4 2T

AR A AU R S A R R R R R R R R X T L LT LT L Ry R S S SN

c) The table below shows results obtamed m an experlment to determine apparent depth of an object
at various dcpths of a:lquid. G

Real depth (cm) 410" X6'0; 8.0 10.0 12.0
- | Apparent depth (cm) 124" 3.6 14.8 ‘6 7.20
1) Plot a graph of apparent delﬁth' (y-axis) against real dep;ch. (5 marks)
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ii Use your graph to determine the refractive index of the liquid.. ' (3 marks)

State what would happen on the pattern after passing the opening if:

i} The gap was made smaller. ; (1 mark)
i) The wavelength was made very large. (1 mark)

....................................................................................................................................................................

¢) When a metre ruie was placed in a ripple tank, it was noted that the distance between 12 successive
dark lines (crest) was 30cm. The frequency of the vibrator was 20Hz. Determine:

i) The wavelength of the wave in the ripple tank. - . (2 marks)
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ii) The velocity of the waves over the water surface: " Frrrain ot ¢+ (2 marks)

..........

iii). The periodic time of the waves, (2 marks)
;._gn ............................................................................................................................... L T S

17. a) You are provided with two resiéto;fé{o’zf value 4Qand 8Q. : : :
‘i) Draw a circuit diagram showing the resistors.in series with each other and with a battery. (2 marks)

ii) Calculaté the total resistor of the circuit (assume negligible internal resistance) (1 mark)

b) Given that the battery has an e.m.f of 6V and an internal resistance of 1.33Q. Calculate the current |

through the 8Q2 and 4<) resistor when the two are in parallel. (5.marks) . .
¢ LY

...................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................
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C) A battery circulates charge round a CirCull IOT 1.0 HMIUIULED. 11 LIC VULIGHL A LIVIU (b e v 2y vrases
quantity of charge passes through the wire. 77 (3 marks)

........................................................................................................
...............................................................................................................................................................
....................................................................................................................................................................

........................................................................................................................................................

18. a) Figure beldw shows an object O placed infront of a mirror of focal length 1 Oéin. C is the centre of

curvature. rrerrr
el
)=
Fig. 12
1
i) On the same figure draw a ray diagram showing the location of the image. (3 marks)
Use your diagram in (a) (i) above to determine the:
ii) Image distance (1 mark)
iii) Magnification (2 marks)
e
.................................................. Rq.-..........\............-.-................-....--.................-.....................................-....
b) A vertical object is placed 20cm infront of a convex lens of focal length Sem.
Determine: e
i) The image distance (2 miarks)
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ii) Magnification

...................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................
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QUESTION 1 ,

You are provided with the following;
- A metre rule

- Vernier callipers

* A 300g mass

- Two knife edges

- Some thread

Proceed as follows: , ' :

a) Place the metre rule on the knife edges such that each knife cdge is 45cm from the 50cm mark (centre
of the rule). See figure 1. Ensure that the millimetre scale of the metre rule is facing upwards. The
distance L between the knife edges is now 900mm.

Place the vernier callipers vertically against the metre rule at the 50cm mark with the depth gauge
lowered to tquch the bench as shown in figure 1. : \

Record the height hy, of the upper edge of the metre rule at the 50cm mark. (see figure 1)
Hys v mm A (1 mark)

Scm = Scm
e £_ E-— . .
o 4 metre rule
y et
/\\ - -f‘—'i Depth gauge /\/ Knife edge
Hnife edge Bench

Figure 1.

b) Using the thread provided, hang the 300g mass at the 50cm mark of the metre rule. Ensure that the
mass does not touch the bench. Measure and record in table 1, the height of the edge of the metre
rule at the 50cm mark.

¢) With the 300g mass still at the 50cm mark, adjust the position of the knife edges so that L is now
800mm. (The knife edges should be equidistant from the centre of the metre rule). Measure and
record in table 1 the height h of the edge of the metre rule at the S0cm mark. -

d) Repeat the procedure in (c) for other values of L shown in table 1. Complete the table.

Length L (mm) 900 - 1800 700 600 500

Height h (mm)

Depressions d(hy-h)mm

Log L

Logd
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ey Plot a graph of L(y-axis) against log d. (5 marks)

. )" i) Determine the slope S of the graph. _ : (3 marks)
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...................................................................................................................................................................

ii1) Determine G, the value of log L, when log d = 0 :
= 04 marks)
" w) Given that G = log k, determine the value of k.. 2 (1 mark)
; Y >
B o e g g1 9 e el

Bidt i AL A L L e L T T P T T R s S S O Y

‘QUESTION 2
You are provided with the following;
-An‘ammeter

- A voltmeter

- Two dry cells
- Amounted resistance wire
- Connecting wire
- A torch bulb in a bulb holder

S A_cell holder :
- - A switch
- Atjockey or crocodile clip
a) . (;anect the apparatus provided as shown in the diagram below.
il .
Il s ;
i
< : F——— 0
RRRRPAGFERNERET THERR IlllllllIiIIIIlHTI
A T LTI | [T T}a 4
= 2 0\ : \ Metre rule
/> Resistance wire '
- V) W . -
p\';/ 2 ‘}( i
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b)  With the jockey at ¢, 10cm from A record the voltmeter reading in the table below.

LéngthL(cm) 10 120 (30 |40 |50 .l6p0 |70 [so 90

r

P.d (V)

¢) Repeat the experiment in (b) above for the following length;
»=20cm, 30cm, 40cm, 50cm, 60cm, 70cm, 80cm, 90cm, respectively.

d) Plot the graph of p.d against leﬁglh L(cm). (5 marks)

[

LTy

1

130 36
I

|38

1

T

I
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...................................................................................................................................................................
............................................................................................................................................................
......-......-..--..-.........-.............-......-..-..-..-...-.--.-u-.-...--.-.--.--...-u-.-...-..- ............................................................

-.--.--.--......-....-................-.....................--.....--......-....--...---...v.....-..-..-.u..-.....-......,.......-................u. ...............

f) Replace the voltmeter with a bulb and an ammeter, connect in series as shown in the circuit diagram
below. : ‘ pES. '

liu
4 R

i

=2 H C :
1 L
A ’IIllHH{lHllllllllll%!llll}lllrlllll‘l|||||1|I|H

7=
=]

' N \ J\\ )
N\ A I Metre rube
) Resistance wire ]

o

g) Close the switch and record the ammeter readings 1;, 15 and 15 for the corresponding value of length.
: : (3 marks)

By 30eme s st ARy e 5 0 a0 L .
Ly = 500 Iy = coosrsorecionnimseiesssanssieiosenens T otk boatres e
L;=70cm | - men) o e o o o R R R A B SR ooty
h) Given that v=LS where V is p.d across the length AC of the wire. S is the slope of the graph in d

above and L the length of the resistance wire. Determine the potential differences Vi, Vi, and V3
across the length AC of the wire for the length Li, Ly and L; in (g) above.

S R et D A AL o e
Vo e Fmb i Roan T BLE NG Sy
V3 I SOOID A IO enosRENics: e Risas %
i) Sing the values of vy, v2 and v; and the corresponding currents i}, 12 and i3 vcalculate the corresponding
resistance R}, R; and R;. Complete thc average valu; of the resistance of the bulb. (2 marks)
....................................................... \
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SECTION A (25MARKS)
Attempt all the questions in this section.

1. State two ways in which the Kenyan constitution promotes national unity. : (2mks)
2. State two aspects cf Luo social organization. (2mks)
3. Name the family that ruled Island of Lamu in 9" century. (1mk)
4. Give the main resuits of second Anglo-Maasai agreement of 1911, (Imk)
5. Give two methods used by British to establish colonial rule in Kenya. (2mks)
6. State ihe two rcasons why colonial government denied Africans higher education. (2mks)
7. Give two problems faced by early political organizations. (2mks)
8. Name two types of elections in Kenya. (2mks)
9. Identity the main rcason for the formation of Kenya African Democratic Union in 1960.  (1mk)

10. Who takes office on interim basis incase the otfice of Governor and deputy governor are left

vacant in the cnuntv, : (1mk)
11. Give the aumoct f clected members (senators) in the house of the senate. (1mk)
12. Idenufy two contributions of John Kraft to the spread of Christianity in Kenya during 19" century
¢ (2mks)
13. Name the company that administered Kenya on behalf of the British up 1o 1895. (1mk)
14. Name one groun of eastern Cushites in Kenya by the 19" century. (1mk)
15. Mention tw o reies observed play during general election in Kenya. (2mks)
16. Name the constitution minister in Kenya who was assassinated in 19697 (1mk)
17. Who chairs cabinct meetings in Kenya. (1mk)

SECTION B (45mks)
Answer i THREE questions jrom this section

18. a) Name three commissions which have been appointed to advice the government on change .

education since independence. _ : (3mks)
b) Describe the achievements of education sector in Kenya since independence. (12mks)
19.a) Identify three levels of conflicts. ; : (3mks)
b) Explain six ways in which conflicts may have a negative effect in Kenya. (12mks)
20. a) Give three reasons why the Bantu migrated from their coastal settlements at shungwaya in
the 16"century. : (5mks)
b) Describé political organization of the Akamba during pre-colonial period. (10mks)
21.a) State three reasons why the Portuguese were able to conquer the Kenyan coast during the
16" century. ‘ (3mks)
b) -Explain six factors which led to the collapse of the Portuguese rule on the Kenya coast by end
0f 17" century. (12mks)

SECTION C (30 mks)

Answer any TWO questions from this section.

22.a) State five mecthods used by the nationalists in Kenya to struggle for independence. (5mks)

b) Explain five factors that enabled the Nandi to resist the British invasion for a long time. (10mks)
23.a) State five functions of a presiding officer in the electoral process in Kenya. (5mks)

b) Explain five ways in which parliamentary supremacy is exercised in Kenya. (10mks)
24.2a) Identify three factors to be considered before changing a county boundary. (3mks)

b) Explain six advantages of devolved government. (12mks)
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- SECTION A: (?5marks)

Answer all questions from this section

1. Give two reasons why early human beings lived in groups. : (2mks)
2. Name two sub species of homo sapiens ' ' S oK)
3. State the methods of writing invented Mesopotamia (Imk)
4. Identify the main discovery which promoted road transport (1mk)
5. State one theory that explain how iron working spread in Africa. - (1mk)
6. Name two early urban centres in Europe. (2mks)
7. Give the main function of black stool among the Ashanti : . (Imk)
8. Name the FRELIMO leader in Mozambique who was assassinated in 1969. (1mk)
9. State two factors that led to decline of Athens city state. A (2mks).
10. Give two reasons why the Africans in Tanganyika were against the use of Akidas by the Germany
colonial administration, (2mks)
11. Name the policy of administration used by the Portuguese in their colonies. (1mk)
12. Identify two reasons why the Portuguese built the Fort Jesus. (2mks)
13.Identify one form of oral tradition source of history and government information. " (Imk)

14. Name the treaty signed between samori toure and the French during the scramble and partitioning of
Africa. ' g™ (1mk)

15. State two reasons why the British applied indirect system and administration in Northern Nigeria.
v (2mks)
16. Name the person who convened the infamous Berlin conference 1884-1885 during the partition
of Africa. - Ry (1mk)

17.1dentify two companies used by European co{intries to administer their spheres of influence on
their behalf during scramble and partition of Africa. ‘ (2mks)

SECTION B: (45 MARKS)
Answer three questions from this section.

18. a) Identify one West Africa town that grew during the trans-Saharan trade. (Imk)
b) Name two West Africa rulers who conﬁjbutedw\t}_\%vyﬁt of trans-Saharan trade. (2mks)
¢) Explain the factors that led to the growth of trans-Saharan trade. 12mks)

19, a) Identify three ways in which water was used in industries during the 19" century. (3mks)
b) Explain six challenges facing industrialization in South Africa. : (12mks)

20.a) State the reasons why man domesticated animals. . (5mks)
b) Explain five effects of agrarian revolution in Britain. - (10mks)

21.a) Give three uses of wood as an early source of energy. (3mks)
b) Briefly explain the effects of iron working in Africa. : (12mks)
SECTION C (30MAR.KS)

Answer two questions only

*2.a) State two types of constitutions. - (2mks)
b) List three functions of a constitution. (3mks)
¢) Explain the main sources of the British constitution. (10mks)

!3.a) List three races who live in South Africa today. (3mks)

b) Explain six reactions of the black people in South Africa against the apartheid policies. (12mks)

'4.a) Name three territories in Africa where dirsct rule was used. (3mks)
b) Explain six consequences of assimilation in Senegal. ; (12mks)
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a) State seven contributions of Christians Religious Education to the development of a student

_ 7mks)
b) What are thé’causes:otsin from the Biblical stories of creétion? (Genesis 2-3) (6mks)
¢) Give seven reasons why reading the Bible is important to the Christians. ; (7mi<,s) :
a) Explain how God prepared Moses to be the future leader of the covenant people. (7mks)
b) Give four reasons why God rescued the Israelites from Egypt. ‘ (8mks)

¢) What lessons can a Christian learn from the call of Moses. _ (Smks)

a) Outline seven promises given to King David through prophet Nathan (2 Samuel 7:1-29) (7mks)

b) Mention how Jeroboam 1 promoted schism in Israel _ (7mks)-
c) Mention's_ix ‘ways in which Christians show their trust in God. (6mks)
a) Identify five S(.)cial evils condemned by, prophet Amos. ‘ ' (5mks)
b) According to psofphet Amos, why would God punish other nations? (7mks)
¢) Explain eight evils that a true Christian can condemn in Kenya todéy. (8mks)

a) Explain the WAIST CLOTH as a symbolic act of Jeremiah on judgement and restoration. (8mks)

b) Give FIVE occasions when Nehemiah prayed during his mission. (Smks)
¢) How is Nehemiah’s exemplary life relevant to Christian today. . (7mks)
a) Why are myths important in Traditional African Community? _ ' (5mks)

b) Identify eight ways in which names were chosen in Traditional African Community. (8mks)
¢) Identify various aspects of Traditional African worship that have been incorporated in Christian

worship. : : (7mks)
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(6mks)
2. a) Describe theAheaIing of the'centurion’s servant (Lk 7:1.- 10). ' (7mks)
b) Explain seven ways in which the disciples of Jesus showed their support to his ministry. (7mks)

c) Identify six activities a Christian can do in order to be considered a true follower of Jesus. (6mks)
8e . a) With specific examples identify four types of miracles performed by Jesus. (8mks)
b) Give six reasons why some people did not recognise the authority of Jesus. (6mks)
¢) Explain reasons why some Christians are sceptical about miracles today. (6mks)
4. a) Relate the parable of the Pharisee and the tax collector. (Luke 18:9-14) (8mks)
b) Identify six signs of the end time as taught by Jesus. (6mks)
¢) How can Christians prepare themselves for the second coming of Jesus. (6mks)
5. a) Explain how the use of the Holy Spirit gifts brought disunity in the church at Corinth. (6mks)
b) Outline teaching of Paul on the unity of believers as demonstrated in the image of the body of
Christ (1 Cor 12: 8-31) (7mks)
¢) Explain seven factors that threaten unity in the Church today. (7mks)
6. a) Identify five fruits of the Holy Spirit. : (5mks)
b) Explain seven roles of the Holy Spirit as taugﬁt by Jesus. (7mks)
¢) Outline various ways in which Christians demonstrate the fruit of Holy Spirit. . (8mks)

- a) Explain six ways ~ix‘§'~Wh‘Ich Jesus fulfilled the prophecy giveﬁ to king David by prophet Nathan.

(6mks)
b) Identify four ways in which Jesus observed the religious practices of the Jews. (8mks)

c) Identify the challgm’gcs that parent experience today in their task of bringing up their children. :
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